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1) What was the proof that >"217 brought from the xn>>12 of "ov181 557"?

2) What is the question that the & n3x asks on this proof?

3) How does the xna discredit this question?

4) The x7n3 then asks that if the reason of the xn»92 is because 172 1np1n, the Pws of the xn>>1a

Is not p>>11. Which words is the x9mx questioning?
5) What should the xn>n2 have said?
6) Why is that nw> better?

7) The X713 responds that even if we accept the question, and therefore the xn»92 is teaching us
that the p"v1 are believed in this case, the xn>>12 can still answer our original question. What

would the answer be, and explain why?

8) The x7nx therefore concludes that in fact 172 1P, In the case of the

Xn»92 there is no np>72 NP1, however we don’t know if that is a regular case or an exception.
9) If we say the usual 17 is P172 WP, the ®n»>m2 is talking about a specific case where there is

no npi. What case could the xn»92 be talking about?

10) Explain what the xn»92 is teaching us by saying 21 "oo1mx1 53:7"?

11) What is the 71277 regarding 172 1npii or not (2"an)?

12) (According to >"wn, how (and why) does 912 work?

13) According to '01n, how does 9102 work? )
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